[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035

]
£0.03 . :
0.025F -+ it~ Fhif-4F-
0.02f 11}
0.015 Jt-{} ;
00Ut FH - fireb e dob oo
0.005H -t {1 R S §
A I 1 I A RIS R | ¥ R
o J"UU: b b
3 ; I
@ 1 i NN AR 5 R
oosft- - HHHEH T ’ ----------------

0.0 :
1072 107 1

10 0
TP vertr (cr%)

2

MKFT_TToriginal
mkFit_ TTNEWHS

<4

)
e — B
Efficienq = pOM_mkFit_TTNEWHS chi

mkFit:TTNEWHS-dﬁdq
i2

N 0.2 - T T T
R S S S

[ F . . . .
L S R

2 F : : : :
Ty S

B F : : : :
£ 0.12F+eeheeee b

o F : : : :
O SRS | LA SRR
0.08F--- """"
| .

YOI | M S 1

0.02F -+ }%%‘%H#%

............

............

............

Vs PR O LN U LY

Ratio

T
=
:;
x
;-
=
::
-

30 -20 -10 0 10
TP

0.95!

[ Efficiency vs. sim PV z |

20 30
vert z (cm)

~n 0.2

> : : : :
R I (I SR

£

U S R S
2 F : : : :
£0.42F rrrt e
O B SN SR
0.08f |-+ +choreeden oo
T S R St
0.04Ff--{-c--e-o- froeens ERRRR
0.02

efticie

&
W

T R S S

.............

.............

.............

JiRVs| ST F

T 1T |||I||
—

*

4+
o

F 3
-l

Ratio

PO 5 0 5 10

15 20

éim. PV z (cm)




	Contents
	Page 1


